RISFE AHMER

BEI—-F BBRHES L NE=S 5 8 # B 15 E= ]
402079 [iF] Y BT SEHKX S EE 400,000 2P« HaRPTE 0
i NKEE
REHKX I ERE 400,000 TEIEEE (RKTEEET, ) 13,839
N . a S/
EREABIKEHAD R6.1.1RD 62,365 A . }fgﬁﬁf{;am 0 Bans 0
mE > BEH K@ 0 I 0
(DBBKICHHDED) IEEQE
RIEHKAD v -
S S K (55EKCADBED) 0 SIERAN 0
R V=] [234 -
= 5 1 BEAANEER 0 18 e 0
SiEE 1,019,794 BHEHERAD 0 B 1
555 - QESSEEa BEE - HRAE -
Gl 5,435,507 S PRI 0 SIEHEH 10
B 59 FHEBERAD 0 ETiE 20
B A HEK RS . NREE .
£ zofl 0 (5BBKRCHDBED) 0 SRS 38
sES AT 143,125 BEgAAD 0 B 7
mE IR ESHEKNIREER KR NELE -
z0ft 0 (5BBKRCHDBED) 0 SRS 35
e P 587 I35+ « TS5V HMUEAD 0 EE 0
BES | sppmpe 1 I 587 SHREBLELEAD s I s SEHES 0
- ! = ’ HhBIA T 5EER
REiER (FhErH) 0 B [N AVAi [EIEN 0 ERiE 3
RE - e
WBER (FHEA) 0 —BPBIBHAS TINER | BT 0.0 SEBEM 4
MIBADO 13,264 - . ThEIAY 17 5EER Bl 0 B 0
LR SR - b2 E BRI
BERY] FRBRNES 15,191 ¥ —emecESR B 0.0 SEHEN 0
WIE B MEAD 61,926 s | DERIINER @ 0 B 3
M = KIS
FRIHRINES 13,857 Toh | S I | m 0.0 SEHEY 0
HhENE 0 - TREIAY 17 5EER Bl 0 ENE 0
HiskE e -1
—HEHESE 0 — B EIEASTIHES | BT 0.0 BIEHEM 0
KBS [ #KAD — —
BRIk HENE 0 S A TEAN IR ERIE 0 RSy — ESEE 3
AT —
PSR | _msmmss 0 oA e e BT 0.0 BEOR B 0
RTEHEKAD 11,906 ISERS | A TS SR 0 BROX SRS 0
STEHKREEE 7,060,000 BANES | BT TIiEES BRI 0 [ERE: 118
SR
IRFE KR IS ERE 4,186,800 YR | BT e 0 IEETE 10,036
stERLEY 1 e | EINIZNER ey 0 TH (D 1,202,110
THEIE
TKEE | BHEHTKE ITEASRIMBIHS 1 2y GEmR) 268,374
NEHE
SR EE 7,060,000 ESCle: ) 200,292
B E
IR S 4,186,800 B GEDR) 622
BENERERAD 11,906 TiHRERES Tty (& 0
&
REAHEFREHAD 9,011 ZOMDESE Ty (tefE 0




